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Ans : . (B)(D)(E)
Ejl_iﬁ :
Fr=13If (x) = (ax — b) q(x) + r
(A F0)=(x—2) - aq0) +1 > Fytiag(y) » fr

(B) f (bx) = (abx — b)q(bx) + r = (ax = 1) - ba(bx) +r - ¥ tLbqg(bx) - ER="r
(C)fy£iba(bx) » ZFbg(x)
(D) af(x) = (ax — b) aq(x) + ar= (x —g) a’q(x) +ar > i Fa q(x) - Bx=tar
(E) xf(x) = (ax—b) - xq(x) + rx
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g Hl
(A) deg[f () +g ()] =m H> n  (B) deg[f (x) - g ()] =m+n (C) deg f(g (x)) =mn
(D) deg[f () =g ()I=mE¥n (E) f(FEI] g (OFVRHEL m—n % 2700 -
Ans : (B)(C)
T
(A)D) deg[f () £g ()] = T~ E>m=n

Jfm>m>n
I =max{m- > n} > m=n
n>m<n

(B) deglf (x) - g (x)] =deg  (x) + deg g () =m +n
(C) deg f (g (x)) =mn
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1. #% “E‘“x +4xX2 +5x =3 [&I]f (X): /m EiX+2 0 B0 2x =1 > H[[f (x) =
Ans : X%+ 2x-1
EJ@[#?:
FHB 2P + 4x% + Bx — 3 = (X)(x + 2) + 2x -1
fOOX+2)=x+4x>+3x -2
BT Ix+ 2 HE(X) = 03+ 4x% + 3x = 2) = (X + 2)=x" + 2x -1
2. Fg‘sff(x)=x4—8x3+25x2—30x+8=a(x—2)4+b(x—2)3+c(x—2)2+d(x—2)+e’EJ[J
(Da+b+c+d+elffith
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+2 -8 +10
1 — 4+ 5|+ 6
+2 -4
1 — 21+ 1
+ 2
1/+ 0
= a=1>b=0>c=1>-d=6>e=0 . a+tb+c+d+e=8

(2)f(1.99)=1-(1.99-2)*+0-(1.99-2)3+1- (1.99-2)%+6 - (1.99-2)+0
=(-0.01)*+ (- 0.01)2+6 (- 0.01)= —0.06

3. (50 + 49X + 48x* + -+ +3x* + 2x® + x*)(50x™ + 49x*® + 48x* + -+ + 3x% + 2x +1)FEH]
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(50 + 49X + 48X% + -+ + 3x* + 2x™® £ x*) - (50x™ + 49x*® + 48x* + -+ +3%% +2x +1)
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n 2x2—x+1  A(x-2)(x—3)+B(x-1)(x-3) +C(x -1 (x-2)
B (-2 (x-3) (x-)(x-2)(x-3)

= AX-2)(x—-3)+BXx—-1)(x-3)+C(x—-1)(x—2)=2x"*—x+1
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5. F%%T*F[:“f(x)ﬁﬁl Xo—X+3 VB EIX =25 g (BRI X% — X+ 3 VBT 2x + 3 T+ (X) -
g P& X —x + 3 VER=S o
Ans: x-12
EJ@[#?:
(1)?f(x):(xz—x+3)m(x)+(x—2)
g(X)=0C=x+3)n () +(2x+3)
f(x) -9
=0C=x+3°-mX) - n)+E=x+3)[(2x+3)m (X) + (X—2) n (X)] + (x—2)(2x + 3)
(.. F() - g@ENX —x+3 Vagst
=(X=2)(2x+ 3T x* = x + 3 V gzt
=2 —Xx—6 &I x*—x+3 Vg

=Xx-12
o I 2x* +(a-1)x+3b - ,
6. F B dErxo ELE ab—ul a> bl °
A 3x* +2x+a TRy - o i ¢ ﬁg‘ﬂ
3 a 9
2x* +(a-1)x+3b .
i3 =k (Eff
™ 3x?+2x+a (<)

Hl 2% + (@ — 1) x + 3b = 3kx® + 2kx + ak[¥ 55
SPREIFEIE > 2=3k > a-1=2k » 3b=ak
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7.8(%) = 0 — 2 + X + L)V 1 R FIET, .
Ans: 1
AT
f)=(1"-2-13+1+1)*=1 . F O 51 FEREAIES 1
8. Fb<—2 I'x +2¢° + 7X° + ax + 10 i’ Bx’ + 2x — b - fljla+b = o
Ans: -1
AT
1 2 7 a 10 -2
-2 0 —14-25b b
b 0 b(7+b)
1 0 7+b | a—2b-14 10+5(7+b)
2214 =0 (@ b)=(4> -5 (10--2) (T2
j— a’ = y — ’ y — N =
10+7b+b? = Tfi

at+tb=4-5=-1
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9.f(x)=2x3-5x*—8x+a > g(X)=x*—4x+b» “I5f (X)flLg (X)El@['ﬁ?“ ' flla=

Ans: 62
EJ@P? :
f (x) = 2x° — 5x% — 8X + aflg (X) = x* — 4x + bElfJFfﬁ;\‘ g (AT (x) > E'Jﬁﬁ%ﬁ[ﬁ#ﬁiiﬁ
2 -5 - 8 + a
8 + 12 4
A 4
> —3b|-b
2+ 3, 4-2b a—3b

ﬁ%?“?EO’Fq§f4—2b=0’a—3b=0'r§b=2’a:6

10. Fdegf(x) =3 f(123) =5 f (124) =6 » f (125) = 25 »  (126) = 44 » [I[f (122) .1 ffii 5,

f
Ans : 40
BT
%’S*f(x)=a(x—125)3+b(x—125)2+c(x ~125) + 25
f(123)=5 —-8a+4b-2c+25=5 4da—-2b+c=10
f(124)=6 = <—a+b-c+25=6 = Ja-b+c=19
f(126) = 44 a+b+c+25=44 a+b+c=19

b=0>a=-3>¢c=22
f(X) = — 3(x — 125)* + 22(x — 125) + 25
f(122) = (— 3)(— 27) + 22(— 3) + 25 = 40
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